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1.   Степе̦о̏̌ње и ко̬е̦о̏̌ње 

1. И̸̬̌̚у̦̌ј по̥оћу о̭̦о̵̛̦̏ о̭о̛̦̍̌ ко̬е̦̌ ̛ ̭тепе̦̌: 
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2. ˀ̶̛̌о̦̌л̛̭̌т̛ ̛̥е̛̦о̶е ̬̌̚ло̥к̌. 
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3. Уп̬о̭т̛ ̛̬̌̚̚: 
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Т̬и̐о̦о̥ет̬иј̌ 

4. Н̶̬̌т̌ј п̬̌̏оу̐л̛ т̬оу̐̌о ̭̌ о̹т̛̬̥ у̐ло̛̥̏̌ α ̛ β. Ако је cos 0.4   ̸̛̬̌̚у̦̌ј ̭̏е о̭т̌ле т̛̬̐о̦о̥ет̛̬ј̭ке 
̴у̦к̶̛је ̌̚ у̐ло̏е α ̛ β. 

5. ˀе̛̹ п̬̌̏оу̐л̛ т̬оу̐̌о ̌ко је д̌то: 

а)  к̌тет̌ b=5cm ̛ у̐̌о α =ϯϬ° 

b)  ̵̛поте̦у̌̚ 52cm  ̛ к̌тет̌ 4a cm  

c)  к̌тет̌ а=6cm ̛ у̐̌о β =60°. 

6. ˀе̛̹ т̬оу̐̌о(по̥оћу ̛̭̦у̭̦е ̛л̛ ко̛̭̦у̭̦е тео̬е̥еͿ ̌ко је д̌то 

а)  а=10cm, b=8cm, α =ϰϴ° 

b)  а=48,8cm, β =ϭϬϲ°, γ=Ϯϱ°ϮϬ` 

c)  а=3cm, α =ϲϬ°, γ=ϳϬ° 

d)  а=28cm, c=42cm, β =124°. 

7. Н̶̬̌т̌ј ̴̛̬̐̌к ̴у̦к̶̛је  
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8. Ко̛̬̭тећ̛ ̌д̶̛̛о̦е ̴о̬̥уле ̸̛̬̌̚у̦̌ј: 
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Ко̥плек̭̦и ̬̍оје̏и 

9. Ако је 1 4 2z i  ̛ 2 3 2z i   ̸̛̬̌̚у̦̌ј: 
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10. Од̬ед̛ x ̛ y ̛̚ јед̸̛̦̦̌е: 



   

) 15 2 10

4
) 12 3

9 3

) 2 3 5 1 5

a xi y i

x
b y i i

c x y i

   

  

   

 

11. И̸̬̌̚у̦̌ј п̌ од̬ед̛ ̬е̌л̛̦ ̛ ̛̛̛̥̦̬̦̌̐̌ део ̛̬̌̌̚̚: 
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К̏̌д̬̌т̦̌ јед̦̌чи̦̌ и фу̦кциј̌ 

12. Од̬ед̛ о̭т̌т̌к дељењ̌ 
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3
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13. ˀ̭̌т̛̌̏ пол̛̦о̥: 

2) 5 6a x x  ̌ко је јед̦̌ ње̐о̏ ко̬е̦ Ϯ 

2) 3 4 7b x x   ̌ко је јед̦̌ ње̐о̏ ко̬е̦ ϭ 

14. ˀе̛̹ к̏̌д̬̌т̦е јед̸̛̦̦̌е ;по̥оћу В̛јето̵̛̏ ̴о̬̥ул̌Ϳ: 
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15. Н̌п̛̛̹ јед̸̛̦̦̌у ̸̛ј̛ ̭у ко̬е̛̦: 
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16. Н̌п̛̛̹ ̭ледеће к̏̌д̬̌т̦е ̴у̦к̶̛је у к̦̌о̦̭ко̥ о̍л̛ку: 
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17. И̭п̛т̌ј к̏̌д̬̌т̦е ̴у̦к̶̛је ;̦̌ћ̛ ̦уле, ек̭т̬е̥̦е ̬̏ед̦о̭т̛, ̛̦те̬̏̌ле ̬̭̌т̌, од̦о̭̦о оп̌д̌њ̌ ̛ ̦̌̚кͿ 
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18.ˀе̛̹ ̭ледеће к̏̌д̬̌т̦е ̦ејед̸̛̦̦̌е: 
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Ек̭по̦е̦циј̌л̦̌ фу̦кциј̌ и ек̭по̦е̦циј̌л̦̌ јед̦̌чи̦̌ 

19. Ко̛̬̭тећ̛ ̴̛̬̐̌ке ̴у̦к̶̛ј̌ ̸̛је ̭у ̴о̬̥уле 2xy  ̛ 3xy  ко̦̭т̬у̛̭̌т̛ ̴̛̬̐̌ке ̴у̦к̶̛ј̌ ̸̛је ̭у ̴о̬̥уле: 
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20. ˀе̛̹ по x јед̸̛̦̦̌е: 
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Ло̬̐̌ит̥и 

21. И̸̬̌̚у̦̌ј: 
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22. ˀе̛̹ јед̸̛̦̦̌е: 
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23. ˁк̶̛̛̬̌т̛ ̴̛̬̐̌ке ̴у̦к̶̛ј̌ ̸̛је ̭у ̴о̬̥уле: 
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24. Од̬ед̛ до̥е̦ ̛ ̦уле ̭ледећ̵̛ ̴у̦к̶̛ј̌: 
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